DEFENSIVE AND COMETITIVE BIDDING

LEADS AND SIGNALS

P/ I\

OVERCALLS(Style; Responses; 1/2level; Reopening) OPENING LEADS STYLE WBF Convention Card g‘l’
Sound(8-17HCP), may 4 cards suit Lead in Partner's Suit w
RESP; New Suit=F1(except 2 over 1) Suit 3rd/Low 3rd/Low category : Natural-Green
Cue=3 cards Sup, INV+ NT 4th 4th Country: JAPAN
Jump Cue=Mixed raise Subseq same as above same as above Event:
Jump Raise=PRE Other: K asks CT in 5+ level Players: Yuko NODA - Mariko UEDA
UPDATE: 2024/8/28
1NT OVERCALL (2nd/4th Live; Responses; Reopening) LEADS SYSTEM SUMMARY
2nd:15-18HCP, System ON, Unusual by PH Lead Vs.Suit Vs. NT GENERAL APPROACH AND STYLE
4th:11-17HCP, System ON, 2NT after 2C Stayman=15-17 HCP Ace Ax(+), AKx(+) UB/CT(such as AKITx(+)) 5-cards M, 2/1 FG
King Kx(+), KQx(+), AK AK(+), KQ(+), Kx INT (14+)15-17 HCP
JUMP OVERCALLS(Style; Responses; Unusual NT) Queen QJ, QIx(+), KQ(+), KQ10(+) QJ, QIx(+), KQ109(+), AQIx(+) 2NT (19+)20-21 HCP
1-Suit : Weak; New Suit=F1, Cue=Sup INV+ Jack Jx, J10(+), KJ10(+) Jx, J10(+), AJ10(+), KJ10(+) 2C ART STR
2-Suit : 2NT=Unbid Lower 2 suiter 10 10x, 109(+), H109(+) 10x, 109(+), H109(+)
Reopening : Intermediate 9 9x, K39(x) 9x, 98x SPECIAL BIDS THAT MAY REQUIRE DEFENCE
(1X)-P-(P)-2NT=19-21 HCP Hi-x Sx, HxSx(xx), XxS Sx, Sxx, SxxS(+) 2D/H/S NAT Weak, 3-10 HCP
DIRECT and JUMP CUE BIDS ( Style; Responses; Reopening) Lo-x Hx(xx)S, xx(xx)S HxS, HxxS(+), HHxS(+) REV Bergen
(1m)-2m=Both Ms(5+-5+) SIGNALS IN ORDER OF PRIORITY Goodbad 2NT
Response:2NT/3C/3D/3M=NAT INV/H INV+/S INV+/PRE Partner's Lead Declarer's Lead Discarding 3NT=Gambling, solid min
(1IM)-2M=0oM+m(5+-5+) Suit: 1st/Hi=ENCRG Hi=Even Hi=ENCRG
Response:2NT/3C/3D=NAT INV/PC/oM fit, INV+ 2nd|[Hi=Even S/P Hi=Even 1m-(1NT)-2C/2D/2H/2S/2NT/3m
Jump Cue=Stopper ASK(M) / NAT PRE(m) 3rd|S/P S/P =Both Ms/5+H/5+S/both ms/6+other m/raise
VS. NT(vs. Strong/Weak; Reopening;PH) NT: 1st| Hi=ENCRG Hi=Even Hi=ENCRG 1M-(1NT)-2m/2M/20M/2NT
Hamilton 2nd|Hi=Even S/P Hi=Even =4+m&5+0M/raise/NAT NF/Both ms
DBL=PEN, 2C=any 1 suiter, 2D=Ms, 2M=5+M&4+m, 2NT=ms 3rd|S/P S/P 1m-(2m)-Dbl/2om/2H/2S/2NT/3m
(1INT)-2H*-(P)-2NT/3C/3D/3H = m ask/PC/H INV/Bar Bid Signals (including Trumps): =cards/NAT NF/C INV+/D INV+/NAT INV/raise

VS.PREEMPTS( Doubles; Cue-bids; Jumps; NT bids)

Rev. Smith Echo at NT

Take-Out DBL thru 4H, DBL/4NT vs 4S=PEN/2 suiter
Lebensohl vs Weak2, Cue vs Weak2=Stopper Ask
4C/D vs Weak 2M=54+C/D&5+0M, 4D vs Weak 2D=Both Ms

DOUBLES

TAKEOUT DOUBLES(Style;Responses;Reopening)

VS. ARTIFICIAL STRONG OPENINGS

VS 1C: DBL=C, 1DHS=NAT, 1NT/2NT=ms,

2C=6+C, 2D=Ms, 2M=5+M&min
VS 2C: DBL=C, 2D=Ms, 2M=NAT, 2NT=ms
VS 2D : DBL=Ms, 2M=NAT, 2NT=ms

Sound or Good Shape

Response

: CUE=F1, 2NT Lebensohl Response

Reopening: may be weaker

1M-(2M)-Dbl/oM/2NT/3m/3M
=cards/3+sup, INV+/NAT INV/NAT GF/raise

SPECIAL FORCING PASS SEQUENCES

SPECIAL,ARTIFICIAL AND COMPETITIVE DOUBLES/REDOUBLES

OVER OPPONENTS' TAKE OUT DOUBLE

RDB=POWER
1C/D-(X)-2D/3C=GF Raise, 2NT=PRE Raise, 3C/D=Limit Raise
1H-(X)-2C/D/H/S/NT/3C/3D/3H=

=3H INV/Good R/Bad R/3H FG/4+H FG/Limit R/Mixed R/PRE
1S-(X)-2C/H/S/NT/3C/3D/3H/3S=

=3S INV/Good R/Bad R/4+S FG/Limit R/Mixed R/3S FG/PRE

NEG DBL thru 4H
RESP DBL thru 4D
MAX DBL thru 3S
SUP DBL/RDB thru 2H

IMPORTANT NOTES THAT DON'T FIT ELSEWHERE

INT-(X=Pen)-XX=pup to 2C, 1suiter
-2x=X + higher
INT-(X=ART)-XX=cards
-others=system on
Psychics:RARE




TICK[MIN NO.| NEG.
OPEN IF OF DBL. DESCRIPTION RESPONSES SUBSEQUENT AUCTION COMPETITIVE & PASSED HAND BIDDING
ART.[ CARDS | THRU
11-21HCP 1m-2m/3m=FG/Weak raise 1C-1D-1M/1NT=5+C&4M/may have 4M Cue=Limit Raise+, RDB=Power
1D=4+D unless 4432 1C-1M=May bypass 5+D unless FG 1m-1H-1NT=denies 4S Jump raise vs OC=PRE
1C-2D/1D-3C= Limit Raise. Structured Reverse; Opener's Splinter 1m-(X)-2NT/3m =Pre/linit Raise
1m-2H/S= 6+ H/S, INV 1C-1D-1H-1S/2S=ART GF/NAT GF, 4th SF=FG 1C-(X)-2D, 1D-(X)-3C=FG raise
1C/D 3 4H 1m-1NT/2NT/3NT=6-11/11+-12/12+-15HCP, BAL 1m-1M-1NT-2C=pup to 2D, INV or 2D sign off GoodBad 2NT
Double Jump Shift= Splinter, 5+ Sup, FG -2D=ART GF Fit jump by PH
1m-1x-2NT=17+-19HCP, (semi)bal 1m-2m-2NT/3m/3NT/new suit=3m,min/4+m,min/
3m,13-14HCP/4+m,not min, value
1m-1M-2NT-3C/3M=Check back M ask/sign off
11-21HCP INT=semi F ; 2/1=Natural FG 1M-2M-3M=Bar bid Cue=3+sup, INV+
May be 4 cards in 3rd/4th 2NT=4+sup, 15+HCP Help Suit Game Try 1H/S-(X)-2D/H=3 cards sup, 7-9HCP
3M=4+sup PRE raise 1M-2M-Next Step=Short Suit Game Try Jump Raise=PRE
1H/S-2S/3H=NAT 6+suit, INV 1M-2NT-3x/3M/4M/4m=Short/sound/min/sound5+-5+ 1H-(2S)-X/2NT=NEG/3+Sup, INV
1M-3C/3D=Limit Raise/Mixed Raise 1M-1NT-2x-3M=3 sup, INV Fit Jump by PH
Double Jump Shift=Splinter, 9-11HCP 4th SF=FG P-1M-(X)-?
1H/S 5(4) 4H 3NT=4(5) sup, 13-15HCP, BAL Opener's Splinter -2C=3 card sup INV
-2D/H=Good Raise of H/S
-2M=Bad Raise
-2NT=Limit Raise
-Jump in oM=Mixed Raise
-3C/D=Fit Jump
(14+)15-17HCP, BAL/Semi-BAL 2C=Stayman. 2D/H=Jacoby TRF 2C-2D-2H/S=Smolen, Inv+ System On vs Art Dbl/2C
May have 5M/6m 2S=minor Stayman; 2NT=pup to 3C, min sign-off 2C-2D-3H/S=5-5+ Ms, INV/FG Rubensohl
May have singleton honor 3C=5M ask 2D-2H-28=5+H&4+8S, S/T Neg Dbl vs 2 &3 level natural OC
INT 3D=6+D, Inv 2H-28-3H=5+S&5+H, S/T DONT Escape vs Value Dbl
3H/S=6+C/D, Slam Interest
4D/H=Transfer to 4H/S
4C=Roman Gerber
ART STR or 22+ BAL 2D/H/S=0-1/2/3+ CTRL Kokish Relay after 2D Dbl/Pass=Negative/Waiting vs OC
2c v 0 2NT/3C/3D/3H=6+ solid C/D/H/S 2C-2D-3M=5+D&4+M Rdb/Pass=Negative/Waiting vs Dbl
next step=length ask, other=NAT 2C-2D/H/S-3C-3D=Major Ask
3-10HCP, NAT WEAK 2NT= OGUST 2D(Dbl) New Suit= Sup & L/D
2D 5 o
New Suit =F1
3-10HCP, NAT WEAK 2NT= OGUST 2H(Dbl) New Suit= Sup & L/D
2H 5 o
New Suit =F1
3-10HCP, NAT WEAK 2NT= OGUST 2S(Dbl) New Suit= Sup & L/D
28 5 .
New Suit =F1
20-21 HCP, BAL/Semi-BAL 3C= Stayman 3D=Jacoby with Walsh Relay 3D-3H-3S=Walsh Relay, m Slam Try
May have 5M/6m. 3H= Jacoby 3S=Minor Stayman Smolen after Stayman
2NT May have singleton honor 4D/4H=Transfer to 4H/S
4C=Roman Gerber
3C/D 6 NAT PRE 3C/D/H/S(Dbl) New Suit= Supp & L/D
3H/S 6 NAT PRE High Level Bidding
3NT v Gambling, Solid C or D 4C= P/C, 4D=SSA, 4NT=Length ASK, 4M=To Play RKCB=1430, Minorwood after min fit=1430, Exclusion RKCB=0314
after Q ask: Step response; no Q/Q only/Q&lo-K/Q&middle-K/Q&hi-K/Q&2K
Ac 7 NAT PRE Roman Gerber=14/30/2min/2max
4D 7 NAT PRE
Vs Interference to RKCB: Vs Dbl=No Change, Vs Overcall=DOPI
4H 7 NAT PRE Vs Interference to Exclusion RKCB: Vs Dbl=No Change, Vs Overcall=DOPI
48 7 NAT PRE
4NT Ace Ask 5C/D/HIS=0/1/2/3 Ace Gland Slam Force 5NT: 1 step=A or K, 2 step=Q or Extra length, 6 of trump=no top honor




